7.3 Dividing Polynomials by Monomials

I Divide numerical coefficients (every term)
2 Divide like variables
Ex. ${ }^{-1}$
a) $\frac{6 x+3}{3}$
b) $\frac{14 w-7}{-7}$

$$
\begin{array}{ll}
=\frac{6 x}{3}+\frac{3}{3} & =\frac{14 w}{-7}-\frac{7}{-7} \\
=2 x+1 & =-2 w+1
\end{array}
$$

$$
\text { c) } \begin{aligned}
& (9 x y-6 x)--3 x \quad \text { or } \quad \frac{9 x y-6 x}{-3 x} \\
= & \frac{9 x y}{-3 x}-\frac{6 x}{-3 x} \Rightarrow-3 y+2
\end{aligned}
$$

$$
\text { d) } \begin{aligned}
& \frac{6 x^{2}-8 x}{2 x} \\
= & \frac{6 x^{2}}{2 x}-\frac{8 x}{2 x} \\
= & 3 x-4
\end{aligned}
$$

$$
\text { e) } \frac{5 x y / 2+10 x y}{5 x y}
$$

$$
=\frac{5 x y y}{5 x y}+\frac{10 x y}{5 x y}
$$

$=1 z+2$
Using a MODEL

$$
\underline{E x \neq 2} \quad \frac{9 x^{2}-3 x}{-3 x}
$$



$$
\begin{aligned}
& =\frac{9 x^{2}}{-3 x}-\frac{3 x}{-3 x} \\
& =-3 x+1
\end{aligned}
$$

Ex \#3 Division statement and solve


$$
p g 275 \# 1-18
$$

